J; (3x7)dx

[ o +2)ax

2
J‘OA (3x’ +x* —2x)dx

1 square unit

2.25 square units

0.1975 square units




3 ——
y=x+2

1

2T y=2X*—4x

| HHHHF |

L] T \ L)

-2 /—1 1
-1+

_2 —+

j_”l (x* +2)dx

2
—JO (2x° —4x)dx

0 2
L (2x* —4x)dx— IO (2x* —4x)dx

1.75 square units

2

2§ square units

1

55 square units




y=0.5x

y=x+2

WV

t G t
-1 1
_1 -+

2_-
y=xC=x2=2x
. N
. W
-2+

1(lx)a’x— ' (l x) dx
JGods=],G

2 jol (x* +2)dx

— J;)l (x’ —x* —2x)dx

0.5 square units

1
4 Square unit

1.5 square units




